Lecture#7,8&9 DETERMINANTS OF NATIONAL INCOME AND KEYNES LAW OF CONSUMPTION
In these two classes we proceed from defining and measuring the national income to question what determines its level during a given period. 

Broadly speaking there are two kind of countries in the world the developed countries and underdeveloped or developing countries. One is interested in maintaining its current position of prosperity and the other is to raise national income. They realize that increase in national income is a pre-requisite for eradicating poverty. Any policy about national income; to maintain it or to increase it, can be successful only if we know how a particular level of national income is determined and what are the factors which induce changes in the flow of income stream in the successive periods. In 1936 J.M Keynes put forward his famous theory of “General theory of employment, interest and money”. In the light of his views we can answer the question that, what determined the national income? For this purpose we need to be familiar with some basic concepts of macro economics. These concepts are:

1) Consumption:  Consumption is the ultimate objective of all economic activity. People work and produce goods and services to consume. The part of the income spent on consumer goods for getting direct satisfaction is called consumption. In this sense all expenditure on food, cloths, housing etc. is treated as consumptions expenditure. Consumption has a very close relation with the income of the individual. In the language of mathematics we can say that consumption (C) is a function of income (Y) i.e. C= f(Y). The nature of the relationship is such that as income increases the consumption expenditure also increases. This is true for individuals as well as for the whole economy. Let assume the people of a country consume 80% of the income (MPC= 80/100= 0.8). Initially income is zero and the consumption is 20 billion. 
	Y
	C
	S
	C+S=Y

	0
	20
	-20
	0

	100
	100
	0
	100

	200
	180
	20
	200

	300
	260
	40
	300

	400
	340
	60
	400
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1.1) Factors Affecting consumption: 
According to Keynes their two factors which effect the consumption of people, the income and propensity of consume. But there are many other factors which also affact the consumption pattern of the cnsumer.  Factors concerned with the psychology of the people is said to subjective factor such as foresight, unforeseen needs, improvement, earn interest, pride, miserliness, ostination, generosity, and rejoicy etc. But there are some factors which are objective in nature, interst rate, price level and price expectation, changes in distribution of income, consumer assets and social and structural changes. We are going to expalin the objective factors and left the subjective factors to the readers to explain it according to their own understanding.

· Rate of interest: The rate of interest influence the saving as well as consumption decision of the people. When a person save he have to forego the current consumption. A person will do so if he gets something n the form of interest so that with such interst income he could have consumption in future. A consumer will go on preferring future cosumption over present consumption as long as the Marginal Utility of future consumption is greater or at least equal to Marginal Utility of present consumption. So it means that the saving of a consumer depend upon the rate of interest, and their exist apositive relationship. The greater the rate of interest the greater will be the saing.

· Price level and Price Expectation: How consumption expenditures change as a result of change in price level. In this respect, it wil be seen to what extent the real income of the people changes as a result of change in price level. If price increase and the disposable income also increase with the same ratio the real incme will remain the same and no change will be observed in consuption and saving. Money illusion is also affecting the consumption of the people. Moreover, with increse in price the real disposable income decreases and the real consumption expenditure will decrease and vise varsa.

If at any time the price level of consumer goods increases, but incomes of the people ar not increasing, the cosumer will have to allocate greater portion of their incomes to cosumer goods. It also happen that consumer expect that in future the price of consumer goods will rise or fall, the consumer will decrease their consumption level. Now this change in consumption pattern is because of the expectations of change in price level. 
· Change in the distribution of Income: The distribution of income in a country also affect the cosumption level in the country. If the distribution is fair and just so it will boost the consumption level. And if it un fair and the income of the country is concentrated in few hands so it will decline the consumption pattern of the poor and boost the consumption of the richer people in the country.

·  Consumer Assets: The assets of the consumer are of two types, Financial and Non Financial or Physical goods. Financial assets give benefit in future such as money, demand deposit, insurance policies etc. While non financial asstes are concerend with the currnt consumption of people such as house, food, shops motor car etc. As the DI icreases the spending on financial assets increases. And also a peson having more financial assets consume consume more. The standard oriented people spend more non fincial goods than the financial goods. 
· Social and Structural Changes: The mobility from rural areas to urban areas is a change social class, lead to more comsumption. Agan it education increases, so the tendency of the educated people is towards saving and investments. Changes in population, the stock market development, expectation of war by the people of the cuntry all lead to increase in expenditure of either nature (Consumption or Investment)  
Average propensity to consume: By average propensity to consume we mean that the proportions of consumption expenditure to total disposable income at various levels of income. For instance a family’s income is Rs. 5000 out of which Rs.4000 a year is consumed, its average propensity to consume would be 4000/5000=0.8. Thus the APC =C/Y, where C stands for total consumption and Y stands for total income.

Marginal Propensity to consume: MPC means the proportion of a given increase in income spent upon consumption goods. For instance, if the income of the above mentioned family rise from Rs.5000 a year to Rs. 6000 a year, i.e. by Rs.1000 a year, and Rs.700 out of this increase is spent on consumption goods, its MPC would be 700/1000=0.7. MPC= dC/dY, where dC is incremental consumption and dY is incremental income. Look at the following table:

Propensity to consume schedule or Consumption function

	Disposable income
	Consumption Exp
	APC
	MPC

	1500
	1700
	1700/1500=1.1
	----------

	2000
	2000
	2000/2000=1
	300/500=0.6

	2500
	2250
	2250/2500=0.9
	250/500=0.5

	3000
	2450
	2450/3000=0.8
	200/500=0.4

	3500
	2600
	2600/3500=0.7
	150/500=0.3

	4000
	2700
	2700/4000=0.6
	100/500=0.2

	4500
	2750
	2750/4500=0.5
	50/500=0.1


 The graph related to the above table will be explained in the class.
KEYNES LAW OF CONSUMPTION
This theory was presented by the J.M. Keynes in his book “General Theory”. His own words about the theory are:

“Men on average as a rule have behaviour that when their incomes increase, they increase their consumption, but not as much as their incomes increase.”

 The salient features of this theory are:

i) Consumption depends upon income. More particularly, the current consumption (C) is a function of disposable income (Yd). It is as 

C = f (Yd)     where Yd = Y-T

ii) This theory is concerned with short run only. By the short run, we mean a period which includes trade cycle only.

iii)  Consumption have two components: Autonomous Consumption (Co) and Induced Consumption (cYd), so C = Co + cYd
iv) Consumption is more or less stable. It means that there are not much more changes in consumption expenditures of the people.

v) There exist a non-proportional relationship between consumption and income. It means when Y increases, C also increases, but not in the same proportion. When Y falls, C also falls, but not in the same proportion. The non-proportionality is also confirmed because of Co----- the consumption expenditures which are made even at zero income.

vi)  When the consumption does not increase in the same proportion to increase in income, it means there will be saving in the economy. In other words, along with increase in income, savings also increase.

vii) MPC is less than the APC. Or APC is greater than MPC. While APC = C/Y and MPC = dC/dY.

viii)  When income rises, the APC goes on to fall.
ix) When incomes fall, savings also fall.

x) In short run, consumption will be less than the consumption in the long run.

xi) As, according to Keynes, MPC is less than 1, then we conclude that “Say’s Law is not true in real life. Because, we do not spend all of the increase in income. Hence, goods will remain unsold. This may result in unemployment.

xii) As Aggregate Demand has two components, Y = C + I. The C remains stable more or less. While it is investments which can be changed to affect the AD.   
Assumptions of Keynes Law of Consumption:
a) Shot run model, i.e., the non proportional relationship between consumption and income is subject to short period.

b) There is no change in the state, habits, fashions and distribution of income.

c) There is a rich capitalist economy where people are free to make their choices regarding consumption and savings.

d) There prevail normal condition in the economy, there is neither hyper inflation nor droughts, nor wars. 

Economic implications of Keynes law of consumption:

The important feature of consumption is that MPC < 1. There are some economic implications of the Keynes Law of Consumption.
a) Negation of Say’s Law: according to Say’s Law, supply creates its own demand. Hence AD remain equal to AS. Accordingly, nothing remains unsold and there is no possibility of unemployment. But according to Keynes MPC<1. It means people do not spend all of the increase in their incomes. As a result their exist chances of unsold goods--- over production and unemployment.
b) The crucial importance of Aggregate Demand: when MPC < 1. As a result, people do not spend all of increases in their incomes to purchase the goods which have been produced by them. In such a way, the economy may face the phenomenon of over production and unemployment. Therefore, to remove it there will be a need to enhance aggregate demand so that the unsold goods could be sold.
c) The turning point of Trade Cycle: the proposition of MPC< 1 becomes helpful to explain the turning point of trade cycle, i.e., why it turns from boom to contraction and from depression to revival. In boom, incomes rise but consumption expenditure don not rise in the same way. In this way, the goods will remain unsold and the economy will turn from boom toe contraction. While in depression incomes falls but consumption expenditure do not fall in the same way. Accordingly, there will existing certain demand in the economy pushing it from depression to revival. 
d) Over saving Economy: according to Keynes Law of Consumption there exists a non proportional relationship between income and consumption. It means that whenever, incomes rises consumption does not rise in the same way. Accordingly, along with rise in income, savings go on to increase. If the saving go on accumulating the economy will turn in to over saving economy. If investment is not made equal to such saving the economy will have to face stagnation. 
e) Income propagation:  on the basis of MPC < 1, Keynes has presented the concept of investment multiplier which states that any change in investment, given the value of MPC, will lead to increase NI many a time. 
2) SAVINGS: (S): Saving is that part of income which is not consumed or it is part of income which is left behind after making all of the consumption.
Saving = Income – Consumption    or S = Y-C

There is a direct relationship between saving and income.  As the figure show the direct relationship between the saving and income and show when the income is  less than 100 the savings are negative 
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3) IVESTMENTS (I): The expenditure done by individuals, firms or countries to inrease their incomes is called investments. Thus, investment is the amount spent on caital goods such as machines, tools, equipments and constructions. Investments also includes increase in the stock of goods (Invetory investments) with the producers and sellers and construction of houses. Making expenditure on such goods which will make some revenue in future is said to be investments. Therir are two type of investmets the induced and autonomous. 
i) Induced investments: those investments which are dependent upon the national income as national income increase the level of investments insvestments increase. 
ii) Autonomous investmetns: investments which is not affected by the level of national income is caled the autonomous investments.       
4) AGGREGATE DEMAND (Aggregate consumption):  The total demand for goods and services in a country during a period is called aggregate demand or aggregate consumption. We can also define it as “total spending in a country on buying consumer goods and investments goods.” At different level of national income, the aggregate demand will be different as shown in the table below. 
	Y
	C
	I
	(C+I) (Aggregate Demand)

	0
	20
	40
	60

	100
	100
	40
	140

	200
	180
	40
	220

	300
	260
	40
	300

	400
	340
	40
	380
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5) AGGREGATE SUPPLY: The total goods and services prduced in a country during a period is called aggregate supply. This value is always equal to national income generated. The income is later split into two components C and S. So we can say that Y= C + S. Aggregate supply in fact is the total value of output, which has already been produced and is available to the people to consumption or saving. See the following table and figure.
	National Income
	C
	S
	C + S

	0
	0
	0
	0

	100
	80
	20
	100

	200
	160
	40
	200

	300
	240
	60
	300

	400
	320
	80
	400
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EQUILIBRIUM OF NATIONAL INCOME

Equilibrium of national income is a level of income, which a country can achieve in a period and can maintain the same during next period, under some given circumstances. 
Suppose the national income of Pakistan in 2008 was Rs. 2000/- billion and that economic circumstance in next year have been such that neither have we expected a rise nor a fall in this level, then Rs.2000 billion was the equilibrium income.

Equilibrium of national income is achieved at a level where the following condition is satisfied. 
Saving = Investments
How Equilibrium is achieved?
Equilibrium can be explained by making saving and investment schedule as done in the following table. We have assumed that initially there is consumption of 20 billion rupees. Out of every addition to income, people consume 80% and save 20%. (Marginal Propensity to Consume = 0.8). As income level increases, consumption expenditure increases but increase in consumption is less than increase in income (Y). Along with Y, saving also goes on increasing. However, to keep our study simple, we have assumed investment expenditure as constant at Rs.40 billion. 

	Income
	C
	S
	I
	C + I (Total Exp)
	Effect

	0
	20
	-20
	40
	60
	Income will rise

	100
	100
	0
	40
	140
	

	200
	180
	20
	40
	220
	

	300
	260
	40
	40
	300
	Income remains the same

	400
	340
	60
	40
	380
	Income Falls

	500
	420
	80
	40
	460
	


  Looking at the consumption and saving behavior of the people from the above table, we find that equilibrium of national income can take place at Rs.300 bullion. If due to some reason income is at some other level, it will not be maintained i.e. it will fall or rise.
When income level is below 300, S is less than I i.e. total expenditure is greater than total income. So income tends to rise. On the other hand at income levels above 300, S is grater than I so income tends to fall. Only income level 300 is maintainable at which S=I. this equilibrium income. 
